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20198 & =04 LBHSIH IHSEAE A
SN AFSSAYL
M NGHESEMGL 2Y
ool Hys=2e CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NHEEAMS L 357,183 342,107 15,076
THEEAMSEL: 29 274,343 264,825 9,518
HHSE et 78,647 74,786 3,861
HegsE2e SEXH 2Y 48,695 50,746 A 2,051
201 L2l 40,535 40,666 A 131
01 At 22l 31,563 31,997 A434
O1 eet=ZHl 31,563
DAUASX 5 2E HMAMA 17,373
OXNsSi S83 663 10,0000 x12& 7,920
OXNEX SEYAR(L.8)
663 10,0000 x12& 7,920
OXNsSI dE=SHAM 1143 «1,00000 x12& 1,368
ONSX TAANLSHA
1143 12000 x 123 165
>EAMI EYH 300,000 *3CH x43] 3,600
DelOld=ERH EH,EY
300,000& = 10CH *23 6,000
DFAXEH , &Y 100, 000& *2CH =63l 1,200
> =S ALE X 20,0003 x 10 A %128 2,400
>oIE) 2E 16,500& x20E *33| 990
02 =224l 8,972 8,669 303
O1 2323 2 HMA 8,972
DRELZS 8,972
OSIRE (M= A)
2,130&3 «12024 128 3,068
OYUBIRBE (L AAMBIA) 3302 +3002 <12 1,188
OgtEsH 1,800& x3524 123 756
OYUBILE(WEE 2UUDA)
3303 *1,00024 128 3,960
202 04l 8,160 10,080 21,920
01 = LH Yl 8,160 10,080 21,920
Oxnegss gR=2 680,000& »12& 8,160
graEe A 9,300 4,300 5,000
201 £B-2dH| 3,300 3,300 0
01 At 22l 3,000 3,000 0
O1 get==2Hl 3,000
oA 2 ¥ 2=l
250,000& »12& 3,000
02 2324l 300 300 0
O1 3322 ¥ HA 300
DRIFA PC QAIEUSIH AHEE
25,0003 123 300
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HFSEAYL
HYSEAYL 29
WBEEEE]

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
206 M = Hl 6,000 1,000 5,000
01 & bl 6,000 1,000 5,000

OoloNeEEg ANsSAHSES E2 HOA
5002 *12, 000 0K 6,000

NP 2Z 20,652 19,740 912
201 LBEt2 Y| 17,772 16,860 912
01 At 22l Yl 12,420 12,000 420

O1 detx=2H| 12,420
D XN HAA 8,820
OFSH ¥ SEHHM NE2XNAM
66,0003 x70+ A 4,620
O XS XAl e D XA 60,000& x70E8F A 4,200
DHOINEREH EH,EY
300,000& *4CH *33] 3,600
02 3524t 5,352 4,860 492
O1 2222 % HA 5,352
PRERZS 5,352
OSIRHE(NEAM =AI2) 2,130& %8001 1,704
O LB HE (KAl 2=Al2) 3308 *2,40021 792
OLUBILRBE(FSAH U2le MDD ot
) 330& +7,0004 2,310
O LUBILSLHE(FSAH 2H L)
330& +1,0004 330
Otts:H 1,800& *12021 216
202 04| 2,880 2,880 0
01 2LHOHI 2,880 2,880 0
ONSRIER =& 240,000& ~12& 2,880
Xk A2t 2| 148,196 126,859 21,337

HI|IZA L HED|H(OIZX)E=S 2L 102,753 83,711 19,042
201 2ot 2 Y| 57,153 56,111 1,042
01 AFR2t2ldl 18,699 18,699 0

O1 getx=2H| 18,699
DEINZA E AHEIA(OIE )2 HAMA 10,899
O AFE O E M 663 x40, 00004 2,640
OZ ot A 663 x15,0000H 990
O ElE XA 75& *9,0000H 675
og3aM 66& *5,0000H 330
OYA2H IS 66:& *30,0000H 1,980
OHEIIH SE(HAMS 1202 *19,0000H 2,280
OHAEIINH S8R (L,8)
663 *19,0000H 1,254
O EiE AFNEXA 752 %10,0000H 750




N ANESEAL L
M IJHSENEL 23
Selr A2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DEAIRESSEI AL
300,000& »23| 600
DAHOIMERH EH,58
300,000& *2CH *23] 1,200
PUXNMEGEH EH.EE 23
1,000, 000& *23| 2,000
DAL Y 202 BIot FXE WA
4,000& +1,000% 4,000
02 =224l 38,454 37,412 1,042
O1 2323 2 HMA 31,854
DRELZS 31,854
O RS IA A LI E A
330& *4,00024 128 15,840
OAEIIHBAMN AUHSA
330&+200H+12& 792
OXSXEA XA AXSKA
3303 +250H «12& 990
OXSXEAL BHAAM 2,130 +1002 <123 2,556
O ZIJIZALL DI AHEEXAM
2,130& *10024 x12& 2,556
OXtsXE AL HEHE DXA
2,130 *15021x12& 3,834
OH4EJIIAH MNEHE XA
2,130@ *x5021 128 1,278
OA&EIIHEH RHEEH
2,1303 1024 «12& 256
OHEIIHZEAMN =DE 2,130%+20H 122 512
OBtsRH 1,800 «150244 «12& 3,240
O3 A& & HI R X bl 6,600
DI 2SStE20NE FAES
220,000 128 2,640
DEAE AHEZOY KRB
330,000& 122 3,960
206 = Hl 45,600 27,600 18,000
01 MHZ 4l 45,600 27,600 18,000
OgA=2d HsE HEH 1,100& *30,000% 33,000
OO0IEXS A HSE HZ= 7,000& x1,8000H 12,600
SIREEH0IIYN ¥ SEEH2HEX AHA KMel 45,443 43,148 2,295
201 LBt 37,283 34,988 2,295
01 At 22l 3,000 3,000 0
O1 Let==EH| 3,000
DojfEEadE MAMA 3,000
Ot EEA 753 %10, 00004 750
ORIuIAM 75&%10,0000H 750
O MEHE DX M 753 %20, 00004 1,500




ANHESEEAE D
ANHSEANGSS 2
XHeFA A2 2] (2 &HH)
- _ _ RE]
M- o9 (B H) - MEAY - B2 %Ei HR=2
02 2224 H| 34,283 31,988 2,295
O1 2222 ¢ HMHA 34,283
PRRER2 34,283
oSS U=
2,1302 10021 x12& 2,556
ORIMNMIOAN & 2HFDXAM
22,1302 60021 x12& 15,336
OXMALTSE NWEHE A2 DKXNAM
22,1302 x43021 x12& 10,991
Oobts=2H 1,800 x25021 x12& 5,400
202 044 8,160 8,160 0
01 22Ul 8,160 8,160 0
OSAMNEYR =& 360,000& x12& 4,320
O3ANER =& 320,000& x12& 3,840
HASY 22 47,500 63, 180 A 15,680
HASX L 22 47,500 63, 180 A 15,680
201 Bt 47,500 49,180 A 1,680
02 E2=2=24%H| 47,500 49,180 A 1,680
O1 2222 2 HA 22,200
DEIRSB 1,700,000 x12& 20,400
DAMSIEERS 150,000& ~12& 1,800
O3 A& &H| S XYl 25,300
> & ALEHE A H| (M 2 AlHl)
10,000, 000& » 1Al 10,000
DEANALES & 5,000,000& x 14! 5,000
> EA AgorA =29 200,000& x12& 2,400
>EAN 2D o s
200,000& x12& 2,400
DEA HA(AS) 700,000& x53| 3,500
>XorE &I|&H| S (=& AH|, &
&) 2,000,000 =14l 2,000
HESAAH (AHES A L) 82,840 77,282 5,558
ol 2AH| 61,310 59,102 2,208
ola2AY| 61,310 59,102 2,208
101 e1214| 61,310 59,102 2,208
01 B4 58,705 57,018 1,687
OAZt224% 10,299 1921 «300 Al 2+ 58,705
03 2INHAZ2XHE %= 2,605 2,084 521
o224 2,605
PHNHEXA(INHFSEEX)
14, 469% x301 x60 Al 2+ 2,605
=&t 21,530 18,180 3,350
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MY .S (3H) - HRAY - BES il
=&l 21,530 18,180
201 Bt H | 8,160 8,160
01 AP 22l Yl 8,160 8,160

O1 dEtx=2H| 4,320

>EASIG+EH 360,000& x12& 4,320
O5 =&l 3,840
>of2t. 522 8,000& 202! 23| x12& 3,840
202 04| 1,000 1,000
01 2LHOHI 1,000 1,000

OSEYRFA 1,000,000& * 14 1,000
203 &R =&H| 5,120 5,120
02 RAIINMHR2FAH| 920 920

OFJAINNLRFX 40,000& %230l 920
04 ENSI R =AY 4,200 4,200

ORN2IGIRF&Y| 350,000& x12& 4,200
405 X+H&HF SHI 7,250 3,900
01 ML =ZFHSH 7,250 3,900

OPC(2 H) 1,300,000& *2CH 2,600

OFAX(2 &) 350,000 =1CH 350

OZgH (A 700,000& =204 1,400

OM=&ZI1 (M) 2,900,000& = 1CH 2,900




